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2.1 Determine the gain of the amplifier in Fig. P4.9. What is
the value of 1,?
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2.2 For the amplifier in Fig. P4.10, find the gain and 1,?
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. Figure P4.10
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2.3 Using the ideal op-amp assumptions, determine the

values of U, and /; in Fig. P4.11.

OUO

Figure P4.11
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2.4 Using the ideal op-amp assumptions, determine 1, I,
and I in Fig. P4.12.
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Figure P4.12

SOLUTION:

[T, = (mA | ‘_Ifo/\‘ Lideal op- 2wp)
BV\ keL
I,=+ I m




Komunikacijska elektronika

2.5 For the circuit in Fig. P4.17,
(a) findU, in terms of U and (.
(b) IfU = 2Vand(, = 6V, find (.

(c) If the op-amp supplies are 12 V, and (j = 4V,
what is the allowable range of U, ?

U o
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Figure P4.17
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2_6 Find U, in the circuit in Fig. P4.18 assuming the op-amp
is ideal.

Figure P4.18
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2.7 The network in Fig. P4.19 is a current-to-voltage converter
~or transconductance amplifier. Find u,/ i for this network.
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Figure P4.19
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2.8 Calculate the transfer function i,/ uy for the network
shown in Fig. P4.20.

U100~

Figure P4.20
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2.9 Determine the relationship between u, and I, in the
circuit shown in Fig. P4.21.
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2.10 Find U, in the network in Fig. P4.22 and explain what
effect R, has on the output.
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Figure P4.22
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2.11 Determine the expression for u, in the network in
Fig. P4.23.

Uy o
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Figure P4.23
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2.12 Show that the output of the circuit in Fig. P4.24 is

O =
Uz
Figure P4.24
SOLUTION:
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2.13 Find U, in the network in Fig. P4.25.
O
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Figure P4.25
SOLUTIbN:
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2.14 Find the voltage gain of the op-amp circuit shown in
Fig. P4.26.
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Figure P4.26

SOLUTION:
Two 51’7,(9 selvtiow: ) Frnd Uy /U
: 2) Fint Uo

1) Loop amalysis:
A/L7 U‘:Illk'-yl",?ia éUzzx“LB

= Uz /g Uz . Fn_ _ 0.7
Ui Rarig
2) O{;-AWF s in bgow e I'ww'h'%a ta%—//};,uruﬁ;k.
b )+ . z5 |
Uz e

Oveeddl gage o Yoy = (Mg)( Phs)  [UG




Komunikacijska elektronika 15

2.15 For the circuit in Fig. 4.27 find the value of R, that
produces a voltage gain of 10.

Figure P4.27
- SOLUTION:
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2.16 Determine the relationship between J, and {J, in the
circuit in Fig, P4.28.
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Figure P4.28
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2.17 Design an op-amp-based circuit to produce the function

UOZSU‘“7U1
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